

$$\int \frac{1}{\sqrt{\sqrt{x}+1}} dx$$

486

Substitution $\boxed{x=z^2}$

Berechnung dx

$$x = [z(x)]^2 \quad | \quad '$$

$$1 = z' \cdot 2 \cdot z(x) \quad | \quad '$$

$$1 = \frac{dz}{dx} \cdot 2z \quad | \quad \cdot dx$$

$$\boxed{dx = 2z dz}$$

$$\int \frac{1}{\sqrt{\sqrt{x}+1}} dx$$

$$= \int \frac{1}{\sqrt{\sqrt{z^2}+1}} \underline{2z dz}$$

$$= 2 \int \frac{z}{\sqrt{z+1}} dz$$

"einfacher", aber immer noch schwierig

1

2. Substitution

$$\sqrt{z+1} = u(z) \quad | \quad ()^2$$

$$z+1 = u^2(z)$$

$$z = u^2(z) - 1$$

Ergebnis von dz

$$z = u^2(z) - 1 \quad | \quad z = [u(z)]^2$$

$$1 = \underline{2u} \cdot u'(z) - 0 \quad | \quad u' = \frac{du}{dz}$$

$$1 = 2 \frac{du}{dz} \cdot u \quad | \cdot dz$$

$$\boxed{dz = 2u \, du}$$

$$2 \int \frac{z}{\sqrt{z+1}} dz$$

$$= 2 \int \frac{u^2 - 1}{u} 2u \, du$$

$$\boxed{= 4 \int (u^2 - 1) \, du} \quad \text{erheblich einfacher!}$$

(2)

$$4 \int (u^2 - 1) du$$

$$= 4 \cdot \left[\frac{1}{3} u^3 - u \right]$$

$$= \frac{4}{3} u^3 - \cancel{\frac{4}{1}} u$$

Rücksubst

$$u = \sqrt{z+1}$$

$$u^3 = (z+1) \sqrt{z+1}$$

$$= \frac{4}{3} \left((z+1) \sqrt{z+1} \right) - \cancel{\frac{4}{1}} \sqrt{z+1}$$

Rücksubst

$$z = \sqrt{x}$$

$$= \frac{4}{3} \left[(\sqrt{x} + 1) \sqrt{\sqrt{x} + 1} \right] - \frac{4}{\cancel{1}} \sqrt{\sqrt{x} + 1} + C$$

www.vap-math-liebe.de

3

487

$$\int (\sin x \cdot \cos x)^3 dx$$

$$= \int \sin^3 x \cdot \cos^3 x dx$$

Substitue

$$\sin x = z(x)$$

$$(\sin^2 + \cos^2 = 1)$$

Rechnung über dx

$$\sin x = z(x) \quad | \quad z' = \frac{dz}{dx}$$

$$\cos x = \frac{dz}{dx} \quad | \cdot dx$$

$$\cos x dx = dz$$

$$\int \sin^3 x \cdot \cos^3 x dx$$

$$= \int \sin^2 x \cdot \cos^2 x \cdot \cos x dx$$

$$= \int z^2 \cdot (1 - \sin^2) \cdot dz$$

$$= \int z^2 \cdot (1 - z^2) dz$$

(4)

$$= \int (z^3 - z^5) dz \quad \text{erhebt auf 4. potenz}$$

$$= \frac{1}{4} z^4 - \frac{1}{6} z^6$$

Reichsubs + fertige

$$z = \sin x$$

$$= \frac{1}{4} \sin^4(x) - \frac{1}{6} \sin^6(x) + C$$

488

Lösung für 24
485 S. 3

$$\int \frac{x^2}{\sqrt{1-x^2}} dx$$

Substitution

$$x = \sin(z)$$

$$1 = z' \cdot \cos(z)$$

$$1 = \frac{dz}{dx} \cdot \cos(z)$$

$$dx = \cos z dz$$

$$\int \frac{x^2}{\sqrt{1-x^2}} dx = \int \frac{\sin^2(z)}{\sqrt{1-\sin^2(z)}} \cos z dz$$

$$= \int \frac{\sin^2(z)}{\sqrt{\cos^2(z)}} \cos z dz$$

$$= \int \frac{\sin^2(z)}{\cos(z)} \cdot \cos(z) dz$$

$$= \int \sin^2(z) dz \quad \underline{\text{viel einfacher!}}$$

(1)

$$\begin{aligned}
 \int \frac{\sin(z) \cdot \sin(z) dz}{u' \cdot v} &= -\cos \cdot \sin - \int -\cos \cdot \cos \\
 &= -\sin \cdot \cos + \int \cos^2 \\
 &\stackrel{!}{=} -\sin \cdot \cos + \int 1 - \sin^2 \\
 &= -\sin \cdot \cos + \int 1 - \int \sin^2 \\
 &= -\sin \cdot \cos + z - \int \sin^2
 \end{aligned}$$

Zwischenoperieren

$$\int \sin^2 = -\sin \cos + z - \int \sin^2 \quad | + \int \sin^2$$

$$2 \int \sin^2 = -\sin \cos + z \quad | :2$$

$$\int \sin^2 = \frac{1}{2} [z - \sin \cos] \quad \underline{\underline{\text{Rücksubst.}}$$

$$\int \frac{x^2}{\sqrt{1-x^2}} dx = \int \sin^2(z) dz$$

$$= \frac{1}{2} [z - \sin(z) \cdot \cos(z)]$$

$$= \frac{1}{2} [\arcsin(x) - x \cdot \cos z]$$

$$\begin{aligned}
 \sin z &= x \\
 z &= \arcsin(x)
 \end{aligned}$$

Werte ist

$$\sin(z) = x$$

$$\sqrt{1 - \cos^2(z)} = x \quad |(\cdot)^2$$

$$1 - \cos^2(z) = x^2 \quad | -1$$

$$-\cos^2(z) = x^2 - 1 \quad | \cdot (-1)$$

$$\cos^2(z) = 1 - x^2 \quad | \sqrt{\quad}$$

$$\cos(z) = \sqrt{1 - x^2}$$

$$= \frac{1}{2} \left[\arcsin(x) - x \cdot \sqrt{1 - x^2} \right] + C$$

③